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R RENFEHIS (A15) 2B B #H

B ENTHBE: 2636 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 25,360
EE 560 0 560 10 972 324
EE 7,710 1,310 6,400 10 1,188 648 1,188 432
RI& 17,080 3,740 13,340 12 1. 080 540 972 540
130340 [;£ICALA ¥ 24,810
EE 440 0 440 10 1,782 270
G 13,800 540 13,260 10 1,080 648 1,404 432
HEAR 7,220 0 7,220 10 1,058 713
IR 3,350 0 3,350 10 1,296 756
130400 [Z (S5 3 3,722
LS 2,930 2,430 500 10 Z 160 1, 404 1,728 1,566
E351 30 0 30 10 1,728
fE 340 0 340 10 1,188 1,004
130600 [NACA a3 1,965
il Ll 110 0 110 5 2,592 972
®me 1,735 30 1,705 5 3. 888 4320 972
131100 [ 3¢ % 39,965
I 17,497 555 16,942 13 648 972 648
50 4,305 390 3915 15 1,404 1,620 756
EE 793 533 260 13 864 864
FFL 1,050 630 420 12 972
i L 2,070 1,920 150 15 1,512 1,512
& 11,250 6,165 5,085 15 972 810 1,080 432
BRE 3,000 1,155 1,845 15 864 1,080 972
131700 |Fr Y % 55,321
HE 200 200 0 10 756
4 31,940 10,410 21,530 10 1, 458 810 1,415 648
EE 22,681 5,150 17,531 10 1,296 680 1,350 648
FFL 500 0 500 10 1,350
131800 | [F5NAE 3 2,605
£E 550 332 218 02 178 86 173 80
®me 700 12 688 4 2,808 3,240 1,296
P ] 855 9 846| 0.18 108 97 86
131910 [FHE a3 4,128
N 28 0 28 0.045 63 62
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Frx EISEHA%E: 2636 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
£EE 75 4 72| 05 302 302 270
i L 340 0 340 1 1,296 324
&Il 1,778 0 1,778 10 3,132 2,430
BIE 1,630 50 1,580 5 3.240 2.700 4,320 2,160
131950 |4 = ¥ 4,503
EE 264 159 105 3 1,890 864 1,620 972
S 1,750 652 1,098 3 1, 404 864 1,404 864
BE 210 0 210 5 1,350
133400 |LAR ¥ 15,074
EE 5,794 3,844 1,950 10 4,860 1,350 4,644 1,350
32 3,130 660 2,470 10 4104 2,700 4,860 2,160
RI& 5,900 4,220 1,680 10 2. 160 1,296 3,888 1,404
134100 | A/ ¥ 14,265
®me 5,160 1,580 3,580 5 2,538 2,106 2,700 1,728
IR 225 0 225 5 2,376 1,566
=t 1,375 1,130 245 5 2,484 1,944 2,268 1,674
= 1% 6,750 3,000 3,750 5 Z 592 Z, 084 2,700 1,890
134200 |E R a3 2,830
—1—-U—-5uK 2,830 530 2,300 10 1, 620 1,620 1,458
134300 | A F e 4,462
32 664 50 614 2 1,080 972 1,296 540
=40 2,798 545 2253 0.3 130 124 130 124
& 760 62 699 03 173 151 173 162
e 240 0 240 8 3,132
134400 |F<+ % 9,761
EE 2,619 0 2,619 4 2,867 648
R 933 0 933 4 1,296 972
REA 5,975 168 5,807 [] 1. 404 1,188 1,404 540
134500 [E—< > % 7,191
=t 1,846 235 1611 0.15 140 97 162 108
= % 4,984 504 4479 0.13 130 120 135 119
135100 [LNAVIF A 3 322
=40 82 10 72 2 3. 024 3,780 2,160
135200 | B = 3 150
Faxl 140 4 136 /] Z, 808 3,348 1,458
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B ENTHBE: 2636 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

136100 |[MAL & % 26,170

= 5,060 740 4,320 5 2. 052 1,188 2,268 810

= 20 20 0 05 162

X5 4,390 0 4,390 5 2,160 864

= % 700 150 550 5 1,296 648 1,728 648
136200 [ E#5Z 3 800

dtiEE 800 0 800 10 - - - 2,754 2,398
136210 [A—2 1> 3 9,410

dtiEE 9,410 630 8,780 10 3. 132 1, 458 3,132 648
136300 B ¥ a3 2,400

IR 2,300 230 2,070 10 Z, 700 Z. 160 3,240 1,620

BE 100 0 100 10 1,728
136600 |f=F1a= % 1,220

dtiEE 100 0 100 10 4,104

LEdi 260 260 0 10 3,564 3,024

EE 860 860 0 10 3. 024 2,214
138100 | LLM=1F % 3,904

EE 545 55 490 0.1 108 81 130 76

3] 2,441 132 2309 0.2 21 173 281 86
138500 [LHLE “ 3,250

£E%H 3,223 630 2593 0.2 18 70 79 68
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= ENFEHAE 56.1 kv
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240700 | @R M A A # 9,432
FEIT 6,554 186 6,368 10 3.240 972 4,104 972
32 2,878 1,570 1,308 10 4536 1,080 3,780 864
241200 |[~r—T LA LD 3 1,000
L5 1,000 480 520 10 3. 024 Z.700 2,484 2,160
241300 [{FF 3 13,843
FZIE 13,843 7,560 6,283 10 3. 240 1,728 3,024 1,080
241390 [IFADA 3 3,300
0 2,300 1,520 780 10 Z 160 1, 404 2,160 1,296
iR 1,000 0 1,000 10 2,376 1,944
241470 |ZEA DA ¥ 561
=] 550 400 150 [] 1,512
241481 [T a7k % 4,781
=l 2,770 1,670 1,100 5 3. 024 1. 620 3,240 1,404
REAR 636 0 636] 25 378
242320 (33 —ILK 3 1,590
FH7 1,590 550 1,040 10 4, 320 3. 240 4,320 3,024
242830 | SLYA T @ 1,800
L 1,800 210 1,590 10 4, 320 3. 780 4,320 2,592
242850 | YA a3 5,808
=7 5,808 2,396 3412 20 5. 616 5,400
246000 |LV\6Z a3 13,644
£E 448 173 275 025 994 346 594 432
=l 834 307 527| 03 702 486 702 486
12w 2,030 908 1,122 027 702 324 702 324
B 493 480 13| 024 562 356 486 400
& 2,119 231 1,888 0.25 540 432 540 302
HEAR 5,670 2,971 2,699 0.25 508 356 508 346
= % 777 120 657 027 518 454 486 378
247100 |[7—J/LR A a3 307
E4 il 264 162 102| 8.5 15, 120 5.616 14,040 7,560
=il 43 26 17| 85 7,128 5,400 8,640




